# Convex And Starlike Functions With Respect To ( $j, k$ )-Symmetric Points* 

Fuad Al Sarari ${ }^{\dagger}$, Satyanarayana Latha ${ }^{\ddagger}$, Basem Aref Frasin ${ }^{\S}$

Received 11 February 2016


#### Abstract

The main objective of the present paper is to investigate the classes which are starlike and convex with respect to $(j, k)$-symmetric points. Certain interesting coefficient inequalities and distortion theorems are deduced.


## 1 Introduction

Let $\mathcal{A}$ denote the class of functions of the form

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \tag{1}
\end{equation*}
$$

which are analytic in the open unit disk $\mathbb{U}=\{z: z \in \mathbb{C}$ and $|z|<1\}$, and $\mathcal{S}$ denotes the subclass of $\mathcal{A}$ consisting of all function which are univalent in $\mathbb{U}$. Given two functions $f$ and $g$ analytic in $\mathbb{U}$, we say that the function $f$ is subordinate to $g$ in $\mathbb{U}$ and write $f \prec g$, if there exists a Schwarz function $w$, which is analytic in $\mathbb{U}$ with $w(0)=0$ and $|w(z)|<1$, such that $f(z)=g(w(z)), z \in \mathbb{U}$. If $g$ is univalent in $\mathbb{U}$ then $f \prec g$ if and only if $f(0)=g(0)$ and $f(\mathbb{U}) \subset g(\mathbb{U})$.

Using the principle of the subordination we define the class $\mathcal{P}$ of functions with positive real part [2].

DEFINITION 1 ([1]). Let $\mathcal{P}$ denote the class of analytic functions of the form $p(z)=1+\sum_{n=1}^{\infty} p_{n} z^{n}$ defined on $\mathbb{U}$ and satisfying $p(0)=1, \Re\{p(z)\}>0$ and $z \in \mathbb{U}$.

Any function $p$ in $\mathcal{P}$ has the representation $p(z)=\frac{1+w(z)}{1-w(z)}$ where $w(0)=0,|w(z)|<$ 1 on $\mathbb{U}$. The class $\mathcal{P}$ of functions with positive real part plays a crucial role in geometric function theory. Its significance can be seen from the fact that simple subclasses such as the class of starlike $\mathcal{S}^{*}$, class of convex functions $\mathcal{C}$, class of starlike functions with

[^0]respect to symmetric points $\mathcal{S}_{s}^{*}$ have been defined by using the concept of class of functions with positive real parts.

DEFINITION 2. Let $k$ be a positive integer. A domain $\mathbb{D}$ is said to be $k$-fold symmetric if a rotation of $\mathbb{D}$ about the origin through an angle $\frac{2 \pi}{k}$ carries $\mathbb{D}$ onto itself. A function $f$ is said to be $k$-fold symmetric in $\mathbb{U}$ if for every $z$ in $\mathbb{U}$

$$
f\left(e^{\frac{2 \pi i}{k}} z\right)=e^{\frac{2 \pi i}{k}} f(z)
$$

The family of all $k$-fold symmetric functions is denoted by $\mathcal{S}^{k}$ and for $k=2$ we get the class of odd univalent functions.

The notion of $(j, k)$-symmetrical functions $(j=0,1,2, \ldots, k-1 ; k=2,3, \ldots)$ is a generalization of the notion of even, odd, $k$-symmetrical functions and also generalize the well-known result that each function defined on a symmetrical subset can be uniquely expressed as the sum of an even function and an odd function. The theory of $(j, k)$ symmetrical functions has many interesting applications, for instance in the investigation of the set of fixed points of mappings, for the estimation of the absolute value of some integrals, and for obtaining some results of the type of Cartan's uniqueness theorem for holomorphic mappings [4].

DEFINITION 3. Let $\varepsilon=\left(e^{\frac{2 \pi i}{k}}\right)$ and $j=0,1,2, . ., k-1$ where $k \geq 2$ is a natural number. A function $f: \mathbb{D} \mapsto \mathbb{C}$ where $\mathbb{D}$ is a $k$-fold symmetric set is called $(j, k)$ symmetrical if

$$
f(\varepsilon z)=\varepsilon^{j} f(z), \quad z \in \mathbb{U} .
$$

The family of all $(j, k)$-symmetric functions is denoted be $\mathcal{S}^{(j, k)}$, and $\mathcal{S}^{(0,2)}, \mathcal{S}^{(1,2)}$ and $\mathcal{S}^{(1, k)}$ the classes of even, odd and $k$-symmetric functions respectively. We have the following decomposition theorem.

THEOREM $1([4])$. For every mapping $f: \mathbb{D} \mapsto \mathbb{C}$, where $\mathbb{D}$ is a $k$-fold symmetric set, there exists exactly the sequence of $(j, k)$-symmetrical functions $f_{j, k}$ such that

$$
f(z)=\sum_{j=0}^{k-1} f_{j, k}(z)
$$

where

$$
\begin{gather*}
f_{j, k}(z)=\frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{-v j} f\left(\varepsilon^{v} z\right),  \tag{2}\\
(f \in \mathcal{A} ; j=0,1,2, \ldots, k-1 ; k=2,3, \ldots)
\end{gather*}
$$

From (2) we can get

$$
f_{j, k}(z)=\frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{-v j} f\left(\varepsilon^{v} z\right)=\frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{-v j}\left(\sum_{n=1}^{\infty} a_{n}\left(\varepsilon^{v} z\right)^{n}\right) .
$$

Then

$$
f_{j, k}(z)=\sum_{n=1}^{\infty} \delta_{n, j} a_{n} z^{n}, \quad a_{1}=1, \quad \delta_{n, j}=\frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{(n-j) v}= \begin{cases}1, & n=l k+j  \tag{3}\\ 0, & n \neq l k+j\end{cases}
$$

By the uniqueness of the above decomposition, the mappings $f_{j, k}$ are called $(j, k)$ symmetrical parts of the mapping $f$. For $k=2$, the above decomposition is the well-known partition of a function $f$ onto the sum of its even part $f_{0,2}$ and its odd part $f_{1,2}$. The following identities follow directly from (3)

$$
\begin{gather*}
f_{j, k}^{\prime}(z)=\frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{v-v j} f^{\prime}\left(\varepsilon^{v} z\right), \quad f_{j, k}^{\prime \prime}(z)=\frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{2 v-v j} f^{\prime \prime}\left(\varepsilon^{v} z\right)  \tag{4}\\
f_{j, k}\left(\varepsilon^{v} z\right)=\varepsilon^{v j} f_{j, k}(z) \text { and } f_{j, k}^{\prime}\left(\varepsilon^{v} z\right)=\varepsilon^{v j-v} f_{j, k}^{\prime}(z) \tag{5}
\end{gather*}
$$

We denote by $\mathcal{S}^{*}, \mathcal{K}, \mathcal{C}, \mathcal{C}^{*}$ the familiar subclasses consisting of functions which are starlike, convex, close-to-convex and quasi-convex in $\mathbb{U}$, respectively.

Sakaguchi [8], introduced the classes $\mathcal{S}_{s}^{*}, \mathcal{K}_{s}$ of functions starlike and convex with respect to symmetric points, respectively. Further, Parvatham and Radha [7], Nikola [6] and others discussed the classes with respect to $n$-symmetric points.

Here using the concept of $(j, k)$-symmetrical functions we introduce the following classes of analytic functions and derive some interesting results.

DEFINITION 5. Let $\mathcal{S}_{s}^{(j, k)}$ denote the class of functions in $\mathcal{S}$ satisfying the inequality

$$
\begin{equation*}
\Re\left\{\frac{z f^{\prime}(z)}{f_{j, k}(z)}\right\} \geq 0, \quad(z \in \mathbb{U}) \tag{6}
\end{equation*}
$$

where $j=0,1,2, \ldots, k-1 ; k=1,2,3, \ldots$ and $f_{j, k}(z)$ is defined by $(3)$.
DEFINITION 6. Let $\mathcal{K}_{s}^{(j, k)}$ denote the class of functions in $\mathcal{S}$ satisfying the inequality

$$
\begin{equation*}
\left\{\frac{\left(z f^{\prime}(z)\right)^{\prime}}{f_{j, k}^{\prime}(z)}\right\} \geq 0, \quad(z \in \mathbb{U}) \tag{7}
\end{equation*}
$$

where $j=0,1,2, \ldots, k-1 ; k=1,2,3, \ldots$, and $f_{j, k}(z)$ is defined by (3).
We need the following lemmas to prove our main results.
LEMMA 1 ([3]). Suppose $\Omega \subset \mathbb{C}$ is a domain, $F: \mathbb{U} \rightarrow \Omega$ is a universal covering, $f: \mathbb{U} \rightarrow \Omega$ is holomorphic, and $f(0)=F(0)$. If $f^{\prime}(0)=\cdots=f^{m}(0)=0$, then

$$
\begin{equation*}
\frac{1}{m(m-1) \cdots(1)}\left|f^{m}(0)\right| \leq\left|F^{\prime}(0)\right| \tag{8}
\end{equation*}
$$

and

$$
f(\{z:|z| \leq r\}) \subseteq F\left(\left\{z:|z| \leq r^{m}\right\}\right), \quad 0<r<1
$$

Equality holds in (8) if and only if $f(z)=F\left(\lambda z^{m}\right)$ for some unimodular constant $\lambda$. Also if $f(z) \in \partial F\left(\left\{|z| \leq r^{m}\right\}\right)$ for some $z$ such that $|z|=r$ then $f(z)=F\left(\lambda z^{m}\right)$ for some constant $\lambda$.

LEMMA $2([2])$. Let $p \in \mathcal{P}$ and $p(z)=1+\sum_{n=1}^{\infty} p_{n} z^{n}$. Then $\left|p_{n}\right| \leq 2$ for $n \geq 1$.

## 2 Main Results

Let us begin with the following.
THEOREM 2. Let $f \in \mathcal{S}_{s}^{(j, k)}$. Then

$$
\begin{equation*}
\left|a_{n}\right| \leq \prod_{m=1}^{n-1} \frac{m+\delta_{m, j}}{m+1-\delta_{m+1, j}} \text { for } n \geq 2 \tag{9}
\end{equation*}
$$

where $\delta_{m, j}$ is defined by (3).
PROOF. By Definition 5, we have

$$
\frac{z f^{\prime}(z)}{f_{j, k}(z)}=p(z), \quad p \in \mathcal{P}
$$

Then we have

$$
z f^{\prime}(z)=\left[1+\sum_{n=1}^{\infty} p_{n} z^{n}\right] f_{j, k}(z)
$$

By (1) and (3), we have

$$
\left(1-\delta_{1, j}\right) z+\sum_{n=2}^{\infty}\left(n-\delta_{n, j}\right) a_{n} z^{n}=\left[\sum_{n=1}^{\infty} p_{n} z^{n}\right]\left[\sum_{n=1}^{\infty} \delta_{n, j} a_{n} z^{n}\right] .
$$

Equating coefficients of $z^{n}$ on both sides, we have

$$
a_{n}=\frac{1}{n-\delta_{n, j}} \sum_{m=1}^{n-1} p_{m} \delta_{n-m, j} a_{n-m}, \quad \delta_{1, j}=1
$$

By Lemma 2, we have

$$
\begin{equation*}
\left|a_{n}\right| \leq \frac{2}{n-\delta_{n, j}} \sum_{m=1}^{n-1} \delta_{m, j}\left|a_{m}\right| \tag{10}
\end{equation*}
$$

Using the induction method, we want to prove that

$$
\begin{equation*}
\frac{2}{n-\delta_{n, j}} \sum_{m=1}^{n-1} \delta_{m, j}\left|a_{m}\right| \leq \prod_{m=1}^{n-1} \frac{m+\delta_{m, j}}{m+1-\delta_{m+1, j}} \tag{11}
\end{equation*}
$$

The result is true for $n=2$ and 3 . Let the hypothesis be true for $n=m$, that is

$$
\frac{2}{m-\delta_{m, j}} \sum_{r=1}^{m-1} \delta_{r, j}\left|a_{r}\right| \leq \prod_{r=1}^{m-1} \frac{r+\delta_{r, j}}{r+1-\delta_{r+1, j}}
$$

Multiplying both sides by $\frac{m+\delta_{m . j}}{m+1-\delta_{m+1, j}}$, we get

$$
\prod_{r=1}^{m} \frac{r+\delta_{r, j}}{r+1-\delta_{r+1, j}} \geq \frac{m+\delta_{m . j}}{m+1-\delta_{m+1, j}} \cdot \frac{2}{m-\delta_{m, j}} \sum_{r=1}^{m-1} \delta_{r, j}\left|a_{r}\right|
$$

since

$$
\begin{aligned}
& \frac{m+\delta_{m \cdot j}}{m+1-\delta_{m+1, j}} \frac{2}{m-\delta_{m, j}} \sum_{r=1}^{m-1} \delta_{r, j}\left|a_{r}\right| \\
= & \frac{2}{m+1-\delta_{m+1, j}}\left[1+\frac{2 \delta_{m, j}}{\left[m-\delta_{m, j}\right]}\right] \sum_{r=1}^{m-1} \delta_{r, j}\left|a_{r}\right|, \\
\geq & \frac{2}{m+1-\delta_{m+1, j}}\left[\sum_{r=1}^{m-1} \delta_{r, j}\left|a_{r}\right|+\delta_{m, j}\left|a_{m}\right|\right] \\
= & \frac{2}{m+1-\delta_{m+1, j}}\left[\sum_{r=1}^{m} \delta_{r, j}\left|a_{r}\right|\right] .
\end{aligned}
$$

That is

$$
\left|a_{m+1}\right| \leq \frac{2}{m+1-\delta_{m+1, j}}\left[\sum_{r=1}^{m} \delta_{r, j}\left|a_{r}\right|\right] \leq \prod_{r=1}^{m} \frac{r+\delta_{r, j}}{r+1-\delta_{r+1, j}}
$$

which shows that inequality (11) is true for $n=m+1$. This completes the proof.
By the well-know a result $f(z) \in \mathcal{K}_{s}^{(j, k)} \Leftrightarrow z f^{\prime}(z) \in \mathcal{S}_{s}^{(j, k)}$, we get the following theorem.

THEOREM 3. Let $f \in \mathcal{K}_{s}^{(j, k)}$ for $n \geq 2$. Then

$$
\begin{equation*}
\left|a_{n}\right| \leq \frac{1}{n} \prod_{m=1}^{n-1} \frac{m+\delta_{m, j}}{m+1-\delta_{m+1, j}} \tag{12}
\end{equation*}
$$

where $\delta_{m, j}$ is defined by (3).
THEOREM 4. Let $f(z) \in \mathcal{K}_{s}^{(j, k)}$. Then

$$
\frac{1}{\left(1+r^{k+j-1}\right)^{\frac{2}{k+j-1}}} \leq\left|f_{j, k}^{\prime}(z)\right| \leq \frac{1}{\left(1-r^{k+j-1}\right)^{\frac{2}{k+j-1}}}
$$

where $f_{j, k}$ is defined by (3).

PROOF. Let $f(z) \in \mathcal{K}_{s}^{(j, k)}$. Then

$$
\begin{equation*}
\Re\left\{\frac{\left(z f^{\prime}(z)\right)^{\prime}}{f_{j, k}^{\prime}(z)}\right\} \geq 0, \quad(z \in \mathbb{U}) \tag{13}
\end{equation*}
$$

Substituting $z$ by $\varepsilon^{v}$ in (13), respectively, $v=0,1, \ldots, k-1$, we get

$$
\begin{equation*}
\Re\left\{\frac{f^{\prime}\left(\varepsilon^{v} z\right)+\varepsilon^{v} z f^{\prime \prime}\left(\varepsilon^{v} z\right)}{f_{j, k}^{\prime}\left(\varepsilon^{v} z\right)}\right\} \geq 0,(z \in \mathbb{U}), v=0,1, \ldots, k-1 \tag{14}
\end{equation*}
$$

According to the definition of $f_{j, k}\left(\varepsilon^{v} z\right)=\varepsilon^{v j-v}$, the inequality (14) becomes

$$
\begin{equation*}
\Re\left\{\frac{\varepsilon^{v-v j} f^{\prime}\left(\varepsilon^{v} z\right)+\varepsilon^{2 v-v j} z f^{\prime \prime}\left(\varepsilon^{v} z\right)}{f_{j, k}^{\prime}(z)}\right\} \geq 0,(z \in \mathbb{U}) \tag{15}
\end{equation*}
$$

Let $v=0,1, \ldots, k-1$ in (15) respectively, we get

$$
\Re\left\{\frac{\sum_{v=0}^{k-1} \varepsilon^{v-v j} f^{\prime}\left(\varepsilon^{v} z\right)+z \sum_{v=0}^{k-1} \varepsilon^{2 v-v j} f^{\prime \prime}\left(\varepsilon^{v} z\right)}{f_{j, k}^{\prime}(z)}\right\} \geq 0,(z \in \mathbb{U})
$$

or equivalently

$$
\Re\left\{\frac{f_{j, k}^{\prime}(z)+z f_{j, k}^{\prime \prime}(z)}{f_{j, k}^{\prime}(z)}\right\} \geq 0, \quad(z \in \mathbb{U})
$$

that is $f_{j, k}(z) \in \mathcal{K}$. Since $f_{j, k}(z)$ is convex univalent, we have

$$
\Re\left\{\frac{z f_{j, k}^{\prime \prime}(z)}{f_{j, k}^{\prime}(z)}\right\} \geq-1, \quad(z \in \mathbb{U})
$$

Hence the function $g(z)=\frac{z f_{j, k}^{\prime \prime}(z)}{f_{j, k}^{\prime}(z)}$ is subordinate to $G(z)=\frac{1+z}{1-z}-1=\frac{2 z}{1-z}$. Now $g(0)=0$ and from (10) we have $\delta_{1, j}=1$ so

$$
f_{j, k}(z)=z+\sum_{n=1}^{\infty} a_{n k+j} z^{n k+j}
$$

Therefore, we get

$$
g(z)=\frac{(k+j)(k+j-1) a_{k+j} z^{k+j-1}+\ldots}{1+(k+j) a_{k+j} z^{k+j-1}+\ldots}
$$

so $g^{\prime}(0)=\ldots=g^{k+j-1}(0)=0$. We conclude from Lemma 1 that

$$
g(\{|z| \leq r\}) \leq G\left(\left\{|z| \leq r^{k+j-1}\right\}\right) \text { and } r<1
$$

The latter set is a disc centered on the real axis. Since

$$
G\left(r^{k+j-1}\right)=\frac{2 r^{k+j-1}}{1-r^{k+j-1}}, \quad G\left(-r^{k+j-1}\right)=\frac{-2 r^{k+j-1}}{1+r^{k+j-1}}
$$

the centre of this disc is located at $\frac{2 r^{2(k+j-1)}}{1-r^{2(k+j-1)}}$ and its radius is $\frac{2 r^{(k+j-1)}}{1-r^{2(k+j-1)}}$. Thus for $z \in \mathbb{U}$,

$$
\left|g(z)-\frac{2|z|^{2(k+j-1)}}{1-|z|^{2(k+j-1)}}\right| \leq \frac{2|z|^{2(k+j-1)}}{1-|z|^{2(k+j-1)}}
$$

which gives in turn

$$
\begin{aligned}
& \left|\frac{z f_{j, k}^{\prime \prime}(z)}{f_{j, k}^{\prime}(z)}-\frac{2|z|^{2(k+j-1)}}{1-|z|^{2(k+j-1)}}\right| \leq \frac{2|z|^{(k+j-1)}}{1-|z|^{2(k+j-1)}} \\
& \left|\frac{|z|^{2} f_{j, k}^{\prime \prime}(z)}{f_{j, k}^{\prime}(z)}-\frac{2 \bar{z}|z|^{2(k+j-1)}}{1-|z|^{2(k+j-1)}}\right| \leq \frac{2|z|^{(k+j)}}{1-|z|^{2(k+j-1)}}
\end{aligned}
$$

and

$$
\left|\frac{f_{j, k}^{\prime \prime}(z)}{f_{j, k}^{\prime}(z)}-\frac{2 \bar{z}|z|^{2(k+j-1)-2}}{1-|z|^{2(k+j-1)}}\right| \leq \frac{2|z|^{(k+j-2)}}{1-|z|^{2(k+j-1)}}
$$

It suffices to establish the result for $0<|z|=r<1$, in this case we have

$$
\begin{equation*}
\left|\frac{f_{j, k}^{\prime \prime}(r)}{f_{j, k}^{\prime}(r)}-\frac{2 r^{2(k+j-1)-1}}{1-r^{2(k+j-1)}}\right| \leq \frac{2 r^{(k+j-2)}}{1-r^{2(k+j-1)}} \tag{16}
\end{equation*}
$$

Upon integrating (16), we readily get

$$
\begin{aligned}
\left|\log f_{j, k}^{\prime}(r)+\frac{1}{(k+j-1)} \log \left(1-r^{2(k+j-1)}\right)\right| & \leq \int_{0}^{r} \frac{2 x^{(k+j-2)}}{1-x^{2(k+j-1)}} d x \\
& =\frac{1}{(k+j-1)} \log \frac{1+r^{(k+j-1)}}{1-r^{(k+j-1)}}
\end{aligned}
$$

or

$$
\begin{aligned}
-\frac{1}{(k+j-1)} \log \frac{1+r^{(k+j-1)}}{1-r^{(k+j-1)}} & \leq \log \left|f_{j, k}^{\prime}(r)\right|+\frac{1}{(k+j-1)} \log \left(1-r^{2(k+j-1)}\right) \\
& \leq \frac{1}{(k+j-1)} \log \frac{1+r^{(k+j-1)}}{1-r^{(k+j-1)}}
\end{aligned}
$$

or

$$
\frac{1}{(k+j-1)} \log \frac{1}{\left[1+r^{(k+j-1)}\right]^{2}} \leq \log \left|f_{j, k}^{\prime}(r)\right| \leq \frac{1}{(k+j-1)} \log \frac{1}{\left[1-r^{(k+j-1)}\right]^{2}},
$$

or finally

$$
\frac{1}{\left[1+r^{(k+j-1)}\right]^{\frac{2}{k+j-1)}}} \leq\left|f_{j, k}^{\prime}(r)\right| \leq \frac{1}{\left[1-r^{(k+j-1)}\right]^{\frac{2}{k+j-1)}}}
$$

THEOREM 5. Let $f(z) \in \mathcal{K}_{s}^{(j, k)}$. Then

$$
\frac{1}{r} \int_{0}^{r} \frac{1-x}{(1+x)\left(1+x^{k+j-1}\right)^{\frac{2}{k+j-1}}} d x \leq\left|f^{\prime}(z)\right| \leq \frac{1}{r} \int_{0}^{r} \frac{1+x}{(1-x)\left(1-x^{k+j-1}\right)^{\frac{2}{k+j-1}}} d x
$$

PROOF. Since $f(z) \in \mathcal{K}_{s}^{(j, k)}$, we have

$$
\Re\left\{\frac{\left(z f^{\prime}(z)\right)^{\prime}}{f_{j, k}^{\prime}(z)}\right\} \geq 0, \quad|z|<1
$$

In view a result by Libera and Livingston in [5] for $\beta=0$, we have

$$
\frac{1-r}{1+r} \leq\left|\frac{\left(z f^{\prime}(z)\right)^{\prime}}{f_{j, k}^{\prime}(z)}\right| \leq \frac{1+r}{1-r}
$$

By Theorem 4, we get

$$
\frac{1-r}{[1+r]\left[1+r^{(k+j-1)}\right]^{\frac{2}{(k+j-1)}}} \leq\left|\left(z f^{\prime}(z)\right)^{\prime}\right| \leq \frac{1+r}{[1-r]\left[1-r^{(k+j-1)}\right]^{\frac{2}{k+j-1)}}}
$$

or

$$
\frac{1}{r} \int_{0}^{r} \frac{1-x}{[1+x]\left[1+x^{(k+j-1)}\right]^{\frac{2}{(k+j-1)}}} d x \leq\left|f^{\prime}(z)\right| \leq \frac{1}{r} \int_{0}^{r} \frac{1+x}{[1-x]\left[1-x^{(k+j-1)}\right]^{\frac{2}{(k+j-1)}}} d x
$$

Using again the well-know result $f(z) \in \mathcal{K}_{s}^{(j, k)} \Leftrightarrow z f^{\prime}(z) \in \mathcal{S}_{s}^{(j, k)}$, we get the following theorem.

THEOREM 6. Let $f(z) \in \mathcal{S}_{s}^{(j, k)}$. Then

$$
\int_{0}^{r} \frac{1-x}{(1+x)\left(1+x^{k+j-1}\right)^{\frac{2}{k+j-1}}} d x \leq|f(z)| \leq \int_{0}^{r} \frac{1+x}{(1-x)\left(1-x^{k+j-1}\right)^{\frac{2}{k+j-1}}} d x .
$$

Acknowledgement. The authors would like to thank the referee for his helpful comments and suggestions.

## References

[1] P. L. Duren, Univalent Functions. Grundlehren der Mathematischen Wissenschaften [Fundamental Principles of Mathematical Sciences], 259. Springer-Verlag, New York, 1983.
[2] A. W. Goodman, Univalent Functions, Vols. I and II, Polygonal Publishing House, Washington, New Jersey (1983).
[3] I. Graham and D. Varolin, Bloch constants in one and several variables, Pacific J. Math., 174(1996), 347-357.
[4] P. Liczberski and J. Polubinski, On $(j, k)$-symmtrical functions, Math. Bohem., 120(1995), 13-25.
[5] R. J. Libera and A. E. Livingston, Bounded functions with positive real part, Czech. Math. J., 22(1972),195-209.
[6] T. Nikola, Some results univalent functions defined with respect to $N$-symmetric points, Novi Sad J. Math., 38(2008), 91-95.
[7] R. Parvatham and S. Radha, On $\alpha$-starlike and $\alpha$-close-to-convex functions with respect to $n$-symmetric points, Indian J. Pur. Appl. Math., 19(1986), 1114-1122.
[8] K. Sakaguchi, On certain univalent mapping, J. Math. Soc. Japan, 11(1959), 72-75.


[^0]:    *Mathematics Subject Classifications: 30C45.
    ${ }^{\dagger}$ Department of Studies in Mathematics, University of Mysore, Manasagangotri, Mysore 570006 , INDIA
    ${ }^{\ddagger}$ Department of Mathematics, Yuvaraja’s College, University of Mysore, Mysore 570 005, INDIA
    ${ }^{\text {§ Faculty of Science, Department of Mathematics, Al al-Bayt University, Mafraq, Jordan }}$

